Solicitation No. PROPOSAL: TIME & DATE:		P. O. BOX 2449 SAN ANTONIO, T TABULATION OI	IO WATER SYSTEM EXAS 78298-2449		PM Construction & Rehab, L.P. 131 N. Richey Pasadena, Texas 77506			National Power Rodding Corp. 2500 W. Arthington Street	Chicago, minois 00012
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price			Unit Price		Total
		-	Description	Cint Trice			Cint I I ICC		Total
SAWS Jo									
103.1	300	LF	Remove Concrete Curb	\$2.00		\$600.00	\$2.40		\$720.00
103.3	1,500	SF	Remove Concrete Sidewalks and Driveways	\$4.00	-	\$6,000.00	\$2.40		\$3,600.00
200.1	300	SY	Flexible Base (6" Compacted Depth, Type A)	\$16.00	_	\$4,800.00	\$24.00		\$7,200.00
202.1	75	GL	Prime Coat	\$5.00		\$375.00	\$12.00		\$900.00
203.1	25	GL	Tack Coat	\$5.00		\$125.00	\$12.00		\$300.00
205.2	750	SY	Hot Mix Asphaltic Concrete Pavement, Type B (6" Compacted Depth)	\$5.00	_	\$3,750.00	\$132.00		\$99,000.00
205.2	750	SY	Hot Mix Asphaltic Concrete Pavement, Type B (8" Compacted Depth)	\$5.00		\$3,750.00	\$138.00		\$103,500.00
205.3	750	SY	Hot Mix Asphaltic Concrete Pavement, Type C (1.5" Compacted Depth)	\$5.00		\$3,750.00	\$114.00		\$85,500.00
205.3	750	SY	Hot Mix Asphaltic Concrete Pavement, Type C (2" Compacted Depth)	\$5.00		\$3,750.00	\$120.00		\$90,000.00
205.4	750	SY	Hot Mix Asphaltic Concrete Pavement, Type D (1.5" Compacted Depth)	\$5.00		\$3,750.00	\$114.00		\$85,500.00
205.4	750	SY	Hot Mix Asphaltic Concrete Pavement, Type D (2" Compacted Depth)	\$5.00		\$3,750.00	\$120.00		\$90,000.00
206.1	300	SY	Asphalt Treated Base (10" Thick)	\$16.00		\$4,800.00	\$120.00		\$36,000.00
208.1	1,500	SY	Salvage, Haul, Stockpile Asphalt Pavement (1.5" Depth)	\$1.00		\$1,500.00	\$2.40		\$3,600.00

Solicitation No.:	B-10-061-MF	Contract No.: C-10-000			a.j			rp. t	
		SAN ANTON	IO WATER SYSTEM		ıb, I			Co tree	7
		P. O. BOX 2449			Seha ey 775			ding on S	
		SAN ANTONIO, T			& F Jiche Xas			Sodo ngtc	
DD ODOG A I		TABULATION OF			Z. R.			er F rthii	
PROPOSAL:		Renabilitation Work	COrder Construction Contract		truction & Rel 131 N. Richey dena, Texas 77			Pow 7. A	or Co
		Job # 11-4501			PM Construction & Rehab, L.P. 131 N. Richey Pasadena, Texas 77506			National Power Rodding Corp. 2500 W. Arthington Street	
TIME &		10:00 A.M.			A C.			atio 250	D
DATE:		December 3, 2010			P			Z	
		December 3, 2010							
	Estimate Qty	Unit of Issue	Description	Unit Price			Unit Price		Total
			Salvage, Haul, Stockpile Asphalt Pavement (2"						
208.1	1,500	SY	Depth)	\$1.00		\$1,500.00	\$2.40		\$3,600.00
			Flexible Base - Type A, Grade I with 2%						
247	300	CY	Cement (TxDOT Spec.)	\$25.00		\$7,500.00	\$92.40		\$27,720.00
340	75	CY	HMAC Pavement Type "C" (10" Compacted Depth, TxDOT Spec.)	\$50.00		\$3,750.00	\$492.00		\$36,900.00
500.1	150	LF	Concrete Curbing	\$5.00		\$750.00	\$36.00		\$5,400.00
				1					·
500.4	150	LF	Concrete Curbing and Gutter	\$15.00		\$2,250.00	\$38.40		\$5,760.00
502.1	150	SY	Concrete Sidewalks	\$40.00		\$6,000.00	\$120.00		\$18,000.00
503.1	150	SY	Portland Cement Concrete Driveways	\$45.00		\$6,750.00	\$150.00		\$22,500.00
502.2	150	G.Y.	Portland Cement Concrete Driveways -	Φ55.00		Ф0.250.00	φ1 5 0.00		ф 22 7 00 00
503.2	150	SY	Commercial	\$55.00		\$8,250.00	\$150.00		\$22,500.00
503.4	75	SY	Asphaltic Concrete Driveway	\$40.00		\$3,000.00	\$120.00		\$9,000.00
504.1	75	SY	Concrete Median	\$55.00		\$4,125.00	\$180.00		\$13,500.00
504.2	75	SY	Concrete Directional Island	\$55.00		\$4,125.00	\$180.00		\$13,500.00
505.1	75	SY	Concrete Riprap (5" Thick)	\$55.00		\$4,125.00	\$150.00		\$11,250.00
506.1	50	CY	Concrete Retaining Walls - Combination Type	\$110.00		\$5,500.00	\$480.00		\$24,000.00
508.1	150	LF	Relocating Wire Fence	\$10.00		\$1,500.00	\$36.00		\$5,400.00
509.1	150	LF	Metal Beam Guard Rail	\$10.00		\$1,500.00	\$192.00		\$28,800.00

Solicitation No	.: B-10-061-MF	Contract No.: C-10-00	0-MF		전:			ъ.	
		SAN ANTON	IIO WATER SYSTEM		b, L)6			Cor reet	2
		P. O. BOX 2449 SAN ANTONIO, T TABULATION O	TEXAS 78298-2449 OF BIDS		PM Construction & Rehab, L.P. 131 N. Richey Pasadena, Texas 77506			National Power Rodding Corp 2500 W. Arthington Street	
PROPOSAL:		Rehabilitation Wor	k Order Construction Contract		tructio 131 N. dena, T			Power V. Arth	480, III
		Job # 11-4501			Cons			tional 2500 V	
TIME &		10:00 A.M.			PM			Na 2	
DATE:	1	December 3, 2010	T						1
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price			Unit Price		Total
511.3	300	SY	Replacing with Asph. Treat. Base & Pavement (10" Compacted)	\$35.00		\$10,500.00	\$180.00		\$54,000.00
511.3	300	SY	Replacing with Asph. Treat. Base & Pavement (12" Compacted)	\$45.00		\$13,500.00	\$186.00		\$55,800.00
515	150	CY	Topsoil	\$5.00		\$750.00	\$24.00		\$3,600.00
516.1	200	SY	Bermuda Sodding	\$5.00		\$1,000.00	\$24.00		\$4,800.00
516.2	200	SY	St. Augustine Sodding	\$5.00		\$1,000.00	\$24.00		\$4,800.00
518.1	15	EA	Shrubs	\$10.00		\$150.00	\$120.00		\$1,800.00
518.2	75	SY	Landscaping/Flower Beds	\$10.00		\$750.00	\$120.00		\$9,000.00
520.1	500	SY	Hydromulch (Residential or Commercial)	\$1.00		\$500.00	\$3.60		\$1,800.00
530.1	25	EA	Barricades, Signs and Traffic Handling per Each (1 per work order)	\$3,200.00		\$80,000.00	\$5,000.00		\$125,000.00
550.1	2,250	LF	Trench Excavation Safety Protection	\$1.00		\$2,250.00	\$4.80		\$10,800.00
553	25	EA	Storm Water Pollution Prevention Plan (SW3P)	\$25.00		\$625.00	\$1,200.00		\$30,000.00
805	25	EA	Traffic Control Plan	\$2,000.00		\$50,000.00	\$2,000.00		\$50,000.00
850	1	EA	Sanitary Sewer Structure, Type B Structure (0' - 6')	\$5,000.00		\$5,000.00	\$9,890.00		\$9,890.00
850	5	VF	Extra Depth, Type B Structure (>6' Depth)	\$250.00		\$1,250.00	\$862.50		\$4,312.50
850	1	EA	Sanitary Sewer Structure, Type C Structure (0' - 6')	\$6,500.00		\$6,500.00	\$13,225.00		\$13,225.00

Solicitation No.	: B-10-061-MF	Contract No.: C-10-000-	MF O WATER SYSTEM		ab, L.P.			g Corp.	7
PROPOSAL:					PM Construction & Rehab, L.P. 131 N. Richey Pasadena, Texas 77506			National Power Rodding Corp. 2500 W. Arthington Street	280, 111100000000000000000000000000000000
TIME &		Job # 11-4501 10:00 A.M.			A Co Pa			atior 2500	3
DATE:		December 3, 2010			P			Z	
Item No.	Estimate	Unit of Issue	Description	Unit Price			Unit Price		Total
850	5	VF	Extra Depth, Type C Structure (>6' Depth)	\$500.00		\$2,500.00	\$920.00		\$4,600.00
851	25	EA	Adjusting Existing Manholes	\$800.00		\$20,000.00	\$2,760.00		\$69,000.00
852.1	25	EA	Sanitary Sewer Manhole (0' - 6')	\$2,400.00		\$60,000.00	\$5,280.00		\$132,000.00
852.2	5	EA	Sanitary Sewer Drop Manhole (0' - 6')	\$2,400.00		\$12,000.00	\$6,240.00		\$31,200.00
852.3	25	VF	Extra Depth Manholes (>6')	\$300.00		\$7,500.00	\$603.75		\$15,093.75
853	15	EA	Sanitary Sewer Manholes, Glass-fiber reinforced polyester (FRP)	\$1,800.00		\$27,000.00	\$9,240.00		\$138,600.00
854	750	LF	Sanitary Sewer Laterals	\$16.00		\$12,000.00	\$86.40		\$64,800.00
854.1	150	EA	Two-Way Sanitary Sewer Clean-out	\$200.00		\$30,000.00	\$252.00		\$37,800.00
855	15	EA	Reconstruction of Existing Manhole	\$500.00		\$7,500.00	\$3,840.00		\$57,600.00
858	75	CY	Concrete Encasement, Cradles, Saddles and Collars	\$100.00		\$7,500.00	\$174.00		\$13,050.00
866	20,000	LF	Sewer Main Television Inspection (8" through 15" Diameter)	\$5.00		\$100,000.00	\$2.00		\$40,000.00
866	10,000	LF	Sewer Main Television Inspection (18" through 24" Diameter)	\$2.50		\$25,000.00	\$2.00		\$20,000.00
866	7,000	LF	Sewer Main Television Inspection (27" through 36" Diameter)	\$3.00		\$21,000.00	\$2.00		\$14,000.00
866	1,000	LF	Sewer Main Television Inspection (42" through 48" Diameter)	\$5.00		\$5,000.00	\$2.00		\$2,000.00

Solicitation No.	: B-10-061-MF	Contract No.: C-10-000 SAN ANTON	-MF IO WATER SYSTEM		.b, L.P.			Corp. reet	71
		P. O. BOX 2449 SAN ANTONIO, TABULATION OF			PM Construction & Rehab, L.P. 131 N. Richey Pasadena, Texas 77506			National Power Rodding Corp. 2500 W. Arthington Street	
PROPOSAL:		Rehabilitation Work	Order Construction Contract		structio 131 N. dena, T			Power W. Artl	48°C,
		Job # 11-4501			cons asa			onal 00 v	
TIME &		10:00 A.M.			M M			Nati 25	
DATE:		December 3, 2010			Д			-	
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price			Unit Price		Total
866	750	LF	Sewer Main Television Inspection (54" through 60" Diameter)	\$5.00		\$3,750.00	\$2.00		\$1,500.00
868.1	14,000	LF	Sewer Main Cleaning - Normal (8" through 15" Diameter)	\$1.75		\$24,500.00	\$5.00		\$70,000.00
868.1	7,000	LF	Sewer Main Cleaning - Normal (18" through 24" Diameter)	\$2.50		\$17,500.00	\$8.00		\$56,000.00
868.1	5,000	LF	Sewer Main Cleaning - Normal (27" through 36" Diameter)	\$8.00		\$40,000.00	\$10.00		\$50,000.00
868.1	650	LF	Sewer Main Cleaning - Normal (42" through 48" Diameter)	\$20.00		\$13,000.00	\$25.00		\$16,250.00
868.1	350	LF	Sewer Main Cleaning - Normal (54" through 60" Diameter)	\$24.00		\$8,400.00	\$50.00		\$17,500.00
868.1	4,500	LF	Sewer Main Cleaning - Mechanical (8" through 15" Diameter)	\$5.00		\$22,500.00	\$2.00		\$9,000.00
868.1	2,500	LF	Sewer Main Cleaning - Mechanical (18" through 24" Diameter)	\$6.00		\$15,000.00	\$5.00		\$12,500.00
868.1	1,500	LF	Sewer Main Cleaning - Mechanical (27" through 36" Diameter)	\$7.00		\$10,500.00	\$7.00		\$10,500.00
868.1	650	LF	Sewer Main Cleaning - Mechanical (42" through 48" Diameter)	\$20.00		\$13,000.00	\$9.00		\$5,850.00
868.1	350	LF	Sewer Main Cleaning - Mechanical (54" through 60" Diameter)	\$30.00		\$10,500.00	\$11.00		\$3,850.00

Solicitation No.	.: B-10-061-MF	Contract No.: C-10-00	0-MF NIO WATER SYSTEM	Б. Е. Р.	90		Corp. treet	
		P. O. BOX 2449 SAN ANTONIO, TABULATION O	ΓΕΧΑ S 78298-2449 DF BIDS	PM Construction & Rehab, L.P.	131 N. Richey Pasadena, Texas 77506		National Power Rodding Corp. 2500 W. Arthington Street Chicago Illinois 60612	
PROPOSAL:		Rehabilitation Wor	k Order Construction Contract	structio	idena, ⁷		1 Power W. Art	500
		Job # 11-4501		O	Pass		ona 500	
TIME &		10:00 A.M.		Ž			Nati 25	
DATE:		December 3, 2010		<u> </u>	•			
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price		Unit Price		Total
900.1	9,000	LF	Pipe Bursting 8" Sanitary Sewer Pipe, All Depths	\$52.00	\$468,000.00	\$66.00		\$594,000.00
900.1	850	LF	Pipe Bursting 10" Sanitary Sewer Pipe, All Depths	\$61.00	\$51,850.00	\$67.20		\$57,120.00
900.1	4,500	LF	Pipe Bursting 12" Sanitary Sewer Pipe, All Depths	\$62.00	\$279,000.00	\$88.80		\$399,600.00
900.1	850	LF	Pipe Bursting 15" Sanitary Sewer Pipe, All Depths	\$65.00	\$55,250.00	\$112.80		\$95,880.00
900.1	3,000	LF	Pipe Bursting 18" Sanitary Sewer Pipe, All Depths	\$65.00	\$195,000.00	\$127.20		\$381,600.00
900.1	850	LF	Pipe Bursting 21" Sanitary Sewer Pipe, All Depths	\$72.00	\$61,200.00	\$194.40		\$165,240.00
900.1	3,000	LF	Pipe Bursting 24" Sanitary Sewer Pipe, All Depths	\$72.00	\$216,000.00	\$276.00		\$828,000.00
900.1	1,000	LF	Pipe Bursting 27" Sanitary Sewer Pipe, All Depths	\$50.00	\$50,000.00	\$357.60		\$357,600.00
900.1	1,000	LF	Pipe Bursting 30" Sanitary Sewer Pipe, All Depths	\$50.00	\$50,000.00	\$386.40		\$386,400.00
900.1	750	LF	Pipe Bursting 33" Sanitary Sewer Pipe, All Depths	\$50.00	\$37,500.00	\$412.80		\$309,600.00
900.1	750	LF	Pipe Bursting 36" Sanitary Sewer Pipe, All Depths	\$50.00	\$37,500.00	\$426.00		\$319,500.00

Solicitation No. PROPOSAL: TIME & DATE:	: B-10-061-MF	P. O. BOX 2449 SAN ANTONIO, T TABULATION O	IO WATER SYSTEM TEXAS 78298-2449		PM Construction & Rehab, L.P. 131 N. Richey Pasadena, Texas 77506		National Power Rodding Corp. 2500 W. Arthington Street Chicago, Illinois 60612			
Item No.	Estimate		Description	II 4 D 1			II 'A D '		F. 4. 1	
item No.	Qty	Unit of Issue	Description Upsizing of Main by Pipe Bursting (Greater	Unit Price			Unit Price		Γotal	
900.5	750	LF	than One Size), all sizes, all depths	\$5.00		\$3,750.00	\$30.00		\$22,500.00	
901.1	1,500	LF	Install 8" CIPP Sanitary Sewer Pipe, all depths	\$23.00		\$34,500.00	\$50.40		\$75,600.00	
901.1	500	LF	Install 10" CIPP Sanitary Sewer Pipe, all depths	\$23.00		\$11,500.00	\$60.00		\$30,000.00	
901.1	1,200	LF	Install 12" CIPP Sanitary Sewer Pipe, all depths	\$35.00		\$42,000.00	\$74.40		\$89,280.00	
901.1	500	LF	Install 15" CIPP Sanitary Sewer Pipe, all depths	\$41.50		\$20,750.00	\$99.60		\$49,800.00	
901.1	1,200	LF	Install 18" CIPP Sanitary Sewer Pipe, all depths	\$45.00		\$54,000.00	\$132.00		\$158,400.00	
901.1	1,000	LF	Install 21" CIPP Sanitary Sewer Pipe, all depths	\$60.00		\$60,000.00	\$156.00		\$156,000.00	
901.1	1,200	LF	Install 24" CIPP Sanitary Sewer Pipe, all depths	\$68.00		\$81,600.00	\$171.60		\$205,920.00	
901.1	500	LF	Install 27" CIPP Sanitary Sewer Pipe, all depths	\$90.50		\$45,250.00	\$186.00		\$93,000.00	
901.1	500	LF	Install 30" CIPP Sanitary Sewer Pipe, all depths	\$110.00		\$55,000.00	\$240.00		\$120,000.00	
901.1	500	LF	Install 33" CIPP Sanitary Sewer Pipe, all depths	\$122.00		\$61,000.00	\$288.00		\$144,000.00	
901.1	500	LF	Install 36" CIPP Sanitary Sewer Pipe, all depths	\$135.00		\$67,500.00	\$306.00		\$153,000.00	
901.1	500	LF	Install 42" CIPP Sanitary Sewer Pipe, all depths	\$200.00		\$100,000.00	\$360.00		\$180,000.00	
901.1	500	LF	Install 48" CIPP Sanitary Sewer Pipe, all depths	\$275.00		\$137,500.00	\$480.00		\$240,000.00	
901.1	300	LF	Install 54" CIPP Sanitary Sewer Pipe, all depths	\$355.00		\$106,500.00	\$630.00		\$189,000.00	
901.1	300	LF	Install 60" CIPP Sanitary Sewer Pipe, all depths	\$405.00		\$121,500.00	\$804.00		\$241,200.00	
910.1	2,000	VF	Manhole Rehabilitation (Standard Manholes 4 ft. in Diameter)	\$270.00		\$540,000.00	\$350.00		\$700,000.00	

Solicitation No.	.: B-10-061-MF	Contract No.: C-10-00	0-MF NO WATER SYSTEM		o, L.P.			Corp.	2		
PROPOSAL: TIME &		TABULATION O	TEXAS 78298-2449 OF BIDS ck Order Construction Contract	PM Construction & Rehab, L.P 131 N. Richey Pasadena, Texas 77506					National Power Rodding Corp. 2500 W. Arthington Street Chicago, Illinois 60612		
DATE:		December 3, 2010			Д			_			
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price			Unit Price		Total		
910.2	1,500	SF	Sewer Structure Rehabilitation (Non-circular Manholes, and Manholes greater than 4 ft. in diameter)	\$32.00		\$48,000.00	\$30.00		\$45,000.00		
1001	2	EA	Flow Management (24" diameter) including up to 1,000 linear feet of piping	\$5,000.00	Percentage	\$10,000.00	\$39,600.00	Percentage	\$79,200.00		
1001	2	EA	Flow Management (27" diameter) including up to 1,000 linear feet of piping	\$5,000.00	cent	\$10,000.00	\$39,600.00	cent	\$79,200.00		
1001	2	EA	Flow Management (30" or 33" diameter) including up to 1,000 linear feet of piping	\$5,000.00	Per	\$10,000.00	\$39,600.00	Per	\$79,200.00		
1001	2	EA	Flow Management (36" diameter) including up to 1,000 linear feet of piping	\$20,000.00		\$40,000.00	\$147,600.00		\$295,200.00		
1001	2	EA	Flow Management (42" diameter) including up to 1,000 linear feet of piping	\$70,000.00		\$140,000.00	\$147,600.00		\$295,200.00		
1001	2	EA	Flow Management (48" diameter) including up to 1,000 linear feet of piping	\$90,000.00		\$180,000.00	\$175,200.00		\$350,400.00		
1001	2	EA	Flow Management (54" diameter) including up to 1,000 linear feet of piping	\$90,000.00		\$180,000.00	\$288,000.00		\$576,000.00		
1001	1	EA	Flow Management (60" diameter) including up to 1,000 linear feet of piping	\$90,000.00		\$90,000.00	\$288,000.00		\$288,000.00		
1001.1	900	LF	Flow Management (24" Diameter) Piping per Linear Foot Over 1000 LF	\$10.00		\$9,000.00	\$114.00		\$102,600.00		
1001.1	750	LF	Flow Management (27" Diameter) Piping per Linear Foot Over 1000 LF	\$10.00		\$7,500.00	\$132.00		\$99,000.00		

Solicitation No.	: B-10-061-MF	Contract No.: C-10-000	IO WATER SYSTEM		L.P.			orp. et	
PROPOSAL: TIME & DATE:		P. O. BOX 2449 SAN ANTONIO, T TABULATION O	EXAS 78298-2449		PM Construction & Rehab, L.P. 131 N. Richey Pasadena, Texas 77506			National Power Rodding Corp. 2500 W. Arthington Street	Cincago, minois 00012
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price			Unit Price		Total
1001.1	600	LF	Flow Management (30" or 33" Diameter) Piping per Linear Foot Over 1000 LF			\$6,000.00	\$168.00		\$100,800.00
1001.1	450	LF	Flow Management (36" Diameter) Piping per Linear Foot Over 1000 LF	\$15.00		\$6,750.00	\$240.00		\$108,000.00
1001.1	300	LF	Flow Management (42" Diameter) Piping per Linear Foot Over 1000 LF	\$25.00		\$7,500.00	\$240.00		\$72,000.00
1001.1	150	LF	Flow Management (48" Diameter) Piping per Linear Foot Over 1000 LF	\$50.00		\$7,500.00	\$480.00		\$72,000.00
1001.1	150	LF	Flow Management (54" Diameter) Piping per Linear Foot Over 1000 LF	\$50.00		\$7,500.00	\$588.00		\$88,200.00
1001.1	150	LF	Flow Management (60" Diameter) Piping per Linear Foot Over 1000 LF	\$50.00		\$7,500.00	\$588.00		\$88,200.00
1100	200	LF	Sliplining Existing Sanitary Sewer, 36" Diameter (all depths)	\$140.00		\$28,000.00	\$504.00		\$100,800.00
1100	200	LF	Sliplining Existing Sanitary Sewer, 42" Diameter (all depths)	\$210.00		\$42,000.00	\$534.00		\$106,800.00
1100	200	LF	Sliplining Existing Sanitary Sewer, 48" Diameter (all depths)	\$240.00		\$48,000.00	\$540.00		\$108,000.00
1100	200	LF	Sliplining Existing Sanitary Sewer, 54" Diameter (all depths)	\$375.00		\$75,000.00	\$594.00		\$118,800.00
1100	150	LF	Sliplining Existing Sanitary Sewer, 60" Diameter (all depths)	\$415.00		\$62,250.00	\$630.00		\$94,500.00

Solicitation No.	: B-10-061-MF	Contract No.: C-10-000	0-MF NIO WATER SYSTEM		lb, L.P.			Corp. treet	7.
		P. O. BOX 2449 SAN ANTONIO, T TABULATION O	ΓΕΧΑS 78298-2449 DF BIDS		PM Construction & Rehab, L.P. 131 N. Richey Pasadena, Texas 77506			National Power Rodding Corp. 2500 W. Arthington Street	000
PROPOSAL:		Rehabilitation Wor	k Order Construction Contract		tructio 31 N. lena, T			Power V. Arth	180, III
TIME 0		Job # 11-4501 10:00 A.M.			I Cons			utional 2500 V	
TIME &					PIV			Ž	
DATE:	T	December 3, 2010							
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price			Unit Price		Total
1103.1	30	EA	Point repairs for 8" or 10" Diameter, (0' - 10' depth) including up to 10 LF of piping	\$2,800.00		\$84,000.00	\$5,880.00		\$176,400.00
1103.1	15	EA	Point repairs for 8" or 10" Diameter, (10' - 15' depth) including up to 10 LF of piping	\$3,000.00		\$45,000.00	\$7,800.00		\$117,000.00
1103.1	5	EA	Point repairs for 8" or 10" Diameter, (>15' depth) including up to 10 LF of piping	\$3,200.00		\$16,000.00	\$15,600.00		\$78,000.00
1103.1	15	EA	Point repairs for 12" or 15" Diameter, (0' - 10' depth) including up to 10 LF of piping	\$3,000.00		\$45,000.00	\$8,160.00		\$122,400.00
1103.1	5	EA	Point repairs for 12" or 15" Diameter, (10' - 15' depth) including up to 10 LF of piping	\$2,000.00		\$10,000.00	\$10,200.00		\$51,000.00
1103.1	3	EA	Point repairs for 12" or 15" Diameter, (>15' depth) including up to 10 LF of piping	\$2,000.00		\$6,000.00	\$18,000.00		\$54,000.00
1103.1	15	EA	Point repairs for 18" or 21" Diameter, (0' - 10' depth) including up to 10 LF of piping	\$2,500.00		\$37,500.00	\$12,720.00		\$190,800.00
1103.1	5	EA	Point repairs for 18" or 21" Diameter, (10' - 15' depth) including up to 10 LF of piping	\$4,500.00		\$22,500.00	\$13,200.00		\$66,000.00
1103.1	3	EA	Point repairs for 18" or 21" Diameter, (>15' depth) including up to 10 LF of piping	\$5,000.00		\$15,000.00	\$28,800.00		\$86,400.00
1103.1	5	EA	Point repairs for 24" or 27" Diameter, (0' - 10' depth) including up to 10 LF of piping	\$4,000.00		\$20,000.00	\$18,000.00		\$90,000.00
1103.1	5	EA	Point repairs for 24" or 27" Diameter, (10' - 15' depth) including up to 10 LF of piping	\$6,500.00		\$32,500.00	\$19,200.00		\$96,000.00

Solicitation No.	.: B-10-061-MF	SAN ANTON	0-MF NIO WATER SYSTEM		b, L.P.			Corp.	7.
		P. O. BOX 2449 SAN ANTONIO, T TABULATION O	TEXAS 78298-2449 OF BIDS		PM Construction & Rehab, L.P. 131 N. Richey Pasadena, Texas 77506			National Power Rodding Cor 2500 W. Arthington Street	ono sioni
PROPOSAL:			k Order Construction Contract		ruction 31 N.			Sower Arth	go, IIII
		Job # 11-4501			Constr 17. Pasade			ional E 500 W	
TIME &		10:00 A.M.			Σ			Nat 2.	
DATE:		December 3, 2010			Щ.				
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price			Unit Price		Total
1103.1	3	EA	Point repairs for 24" or 27" Diameter, (>15' depth) including up to 10 LF of piping	\$7,000.00		\$21,000.00	\$32,400.00		\$97,200.00
1103.1	3	EA	Point repairs for 30" or 33" Diameter, (0' - 10' depth) including up to 10 LF of piping	\$8,000.00		\$24,000.00	\$19,800.00		\$59,400.00
1103.1	3	EA	Point repairs for 30" or 33" Diameter, (10' - 15' depth) including up to 10 LF of piping	\$8,400.00		\$25,200.00	\$24,000.00		\$72,000.00
1103.1	2	EA	Point repairs for 30" or 33" Diameter, (>15' depth) including up to 10 LF of piping	\$9,000.00		\$18,000.00	\$35,400.00		\$70,800.00
1103.1	3	EA	Point repairs for 36" or 42" Diameter, (0' - 10' depth) including up to 10 LF of piping	\$12,000.00		\$36,000.00	\$28,200.00		\$84,600.00
1103.1	3	EA	Point repairs for 36" or 42" Diameter, (10' - 15' depth) including up to 10 LF of piping	\$12,500.00		\$37,500.00	\$33,600.00		\$100,800.00
1103.1	2	EA	Point repairs for 36" or 42" Diameter, (>15' depth) including up to 10 LF of piping	\$15,000.00		\$30,000.00	\$45,000.00		\$90,000.00
1103.1	2	EA	Point repairs for 48" Diameter, (0' - 10' depth) including up to 10 LF of piping	\$20,000.00		\$40,000.00	\$38,400.00		\$76,800.00
1103.1	2	EA	Point repairs for 48" Diameter, (10' -15' depth) including up to 10 LF of piping	\$20,000.00		\$40,000.00	\$42,000.00		\$84,000.00
1103.1	2	EA	Point repairs for 48" Diameter, (>15' depth) including up to 10 LF of piping	\$20,000.00		\$40,000.00	\$52,800.00		\$105,600.00
1103.1	2	EA	Point repairs for 54" Diameter, (0' - 10' depth) including up to 10 LF of piping	\$20,000.00		\$40,000.00	\$45,600.00		\$91,200.00

Solicitation No.	: B-10-061-MF	Contract No.: C-10-000	0-MF NO WATER SYSTEM		lb, L.P.			Corp. treet	7.
		P. O. BOX 2449 SAN ANTONIO, T TABULATION O	TEXAS 78298-2449 OF BIDS		PM Construction & Rehab, L.P. 131 N. Richey Pasadena, Texas 77506			National Power Rodding Corp. 2500 W. Arthington Street	
PROPOSAL:		Rehabilitation Wor	k Order Construction Contract		structic 131 N. idena, J.			I Powe W. Art	. ago, 11
		Job # 11-4501			Con Pasa			ona 300	
TIME &		10:00 A.M.			Ž			Nati 25	
DATE:		December 3, 2010			д				
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price			Unit Price		Total
1103.1	2	EA	Point repairs for 54" Diameter, (10' - 15' depth) including up to 10 LF of piping	\$20,000.00		\$40,000.00	\$51,600.00		\$103,200.00
1103.1	2	EA	Point repairs for 54" Diameter, (>15' depth) including up to 10 LF of piping	\$20,000.00		\$40,000.00	\$63,600.00		\$127,200.00
1103.1	2	EA	Point repairs for 60" Diameter, (0' - 10' depth) including up to 10 LF of piping	\$22,000.00		\$44,000.00	\$56,400.00		\$112,800.00
1103.1	2	EA	Point repairs for 60" Diameter, (10' - 15' depth) including up to 10 LF of piping	\$22,000.00		\$44,000.00	\$63,600.00		\$127,200.00
1103.1	2	EA	Point repairs for 60" Diameter, (>15' depth) including up to 10 LF of piping	\$22,000.00		\$44,000.00	\$78,000.00		\$156,000.00
1103.2	150	LF	Extra length point repair, 8" or 10" Diameter, all depths	\$100.00		\$15,000.00	\$200.40		\$30,060.00
1103.2	150	LF	Extra length point repair, 12" or 15" Diameter, all depths	\$100.00		\$15,000.00	\$232.80		\$34,920.00
1103.2	150	LF	Extra length point repair, 18" or 21" Diameter, all depths	\$2.00		\$300.00	\$264.00		\$39,600.00
1103.2	100	LF	Extra length point repair, 24" or 27" Diameter, all depths	\$2.00		\$200.00	\$319.20		\$31,920.00
1103.2	100	LF	Extra length point repair, 30" or 33" Diameter, all depths	\$2.00		\$200.00	\$417.60		\$41,760.00
1103.2	100	LF	Extra length point repair, 36" or 42" Diameter, all depths	\$2.00		\$200.00	\$504.00		\$50,400.00

Solicitation No.: B-10-061-MF Contract No.: C-10-000-MF SAN ANTONIO WATER SYSTEM				.b, L.P.			Corp.	7.	
P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS			PM Construction & Rehab, L.P. 131 N. Richey Pasadena, Texas 77506			National Power Rodding Corp. 2500 W. Arthington Street Chicago, Illinois 60612			
PROPOSAL:	PROPOSAL: Rehabilitation Work Order Construction Contract								
	Job # 11-4501		Con			iona 500 Chii			
TIME &	ME & 10:00 A.M.		Ă.			Nati 252			
DATE:	DATE: December 3, 2010				Д				
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price			Unit Price		Total
			Extra length point repair, 48" Diameter, all						
1103.2	25	LF	depths	\$200.00		\$5,000.00	\$622.80		\$15,570.00
1103.2	25	LF	Extra length point repair, 54" Diameter, all depths	\$200.00		\$5,000.00	\$664.80		\$16,620.00
1103.2	25	LF	Extra length point repair, 60" Diameter, all depths	\$200.00		\$5,000.00	\$735.60		\$18,390.00
1103.3	2	EA	Obstruction Removal by Excavation, 8" or 10" Diameter, all depths	\$1,000.00		\$2,000.00	\$3,360.00		\$6,720.00
1103.3	2	EA	Obstruction Removal by Excavation, 12" or 15" Diameter, all depths	\$1,000.00		\$2,000.00	\$4,080.00		\$8,160.00
1103.3	2	EA	Obstruction Removal by Excavation, 18" or 21" Diameter, all depths	\$1,000.00		\$2,000.00	\$7,680.00		\$15,360.00
1103.3	2	EA	Obstruction Removal by Excavation, 24" or 27" Diameter, all depths	\$1,500.00		\$3,000.00	\$9,600.00		\$19,200.00
1103.3	2	EA	Obstruction Removal by Excavation, 30" or 33" Diameter, all depths	\$1,500.00		\$3,000.00	\$11,520.00		\$23,040.00
1103.3	2	EA	Obstruction Removal by Excavation, 36" or 42" Diameter, all depths	\$2,000.00		\$4,000.00	\$13,800.00		\$27,600.00
1103.3	2	EA	Obstruction Removal by Excavation, 48" Diameter, all depths	\$2,000.00		\$4,000.00	\$16,200.00		\$32,400.00
1103.3	2	EA	Obstruction Removal by Excavation, 54" Diameter, all depths	\$2,500.00		\$5,000.00	\$22,800.00		\$45,600.00

Solicitation No.	.: B-10-061-MF	F Contract No.: C-10-00 SAN ANTON	NIO WATER SYSTEM		o, L.P.			Corp.	4
PROPOSAL:		P. O. BOX 2449 SAN ANTONIO, TABULATION O	PM Construction & Rehab, L.P. 131 N. Richey Pasadena, Texas 77506			National Power Rodding Corp. 2500 W. Arthington Street Chicago, Illinois 60612			
PROPOSAL: Rehabilitation Work Order Construction Contract Job # 11-4501 TIME & 10:00 A.M.		M Construct 131 l Pasadena			Vational Pov 2500 W. A Chicago,				
DATE:	DATE: December 3, 2010			Д			_		
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price			Unit Price		Total
1103.3	2	EA	Obstruction Removal by Excavation, 60" Diameter, all depths	\$2,500.00		\$5,000.00	\$27,600.00		\$55,200.00
1103.3	2	EA	Obstruction Removal by Remote Device, 8" or 10" Diameter, all depths	\$600.00		\$1,200.00	\$500.00		\$1,000.00
1103.3	2	EA	Obstruction Removal by Remote Device, 12" or 15" Diameter, all depths	\$600.00		\$1,200.00	\$500.00		\$1,000.00
1103.3	2	EA	Obstruction Removal by Remote Device, 18" or 21" Diameter, all depths	\$600.00		\$1,200.00	\$750.00		\$1,500.00
1103.3	2	EA	Obstruction Removal by Remote Device, 24" or 27" Diameter, all depths	\$700.00		\$1,400.00	\$750.00		\$1,500.00
1103.3	2	EA	Obstruction Removal by Remote Device, 30" or 33" Diameter, all depths	\$700.00		\$1,400.00	\$1,000.00		\$2,000.00
1103.3	2	EA	Obstruction Removal by Remote Device, 36" or 42" Diameter, all depths	\$700.00		\$1,400.00	\$1,500.00		\$3,000.00
1103.3	2	EA	Obstruction Removal by Remote Device, 48" Diameter, all depths	\$1,000.00		\$2,000.00	\$1,500.00		\$3,000.00
1103.3	2	EA	Obstruction Removal by Remote Device, 54" Diameter, all depths	\$1,000.00		\$2,000.00	\$1,500.00		\$3,000.00
1103.3	2	EA	Obstruction Removal by Remote Device, 60" Diameter, all depths	\$1,000.00		\$2,000.00	\$1,500.00		\$3,000.00
1103.3	2	EA	Obstruction Removal by Person Entry, all depths	\$3,000.00		\$6,000.00	\$1,500.00		\$3,000.00

Solicitation No.: B-10-061-MF Contract No.: C-10-000-MF SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS PROPOSAL: Rehabilitation Work Order Construction Contract Job # 11-4501 TIME & 10:00 A.M.			PM Construction & Rehab, L.P. 131 N. Richey Pasadena, Texas 77506			National Power Rodding Corp. 2500 W. Arthington Street Chicago, Illinois 60612			
DATE:		December 3, 2010							
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price			Unit Price		Total
1109	15	EA	Service Reconnection, all depths (w/ remote control cut device)	\$300.00		\$4,500.00	\$300.00		\$4,500.00
1109	300	EA	Service Reconnection, (w/ open cut excavation, 0' - 10' depth, including up to 10 LF of lateral)	\$650.00		\$195,000.00	\$2,160.00		\$648,000.00
1109	150	EA	Service Reconnection, (w/ open cut excavation, 10' - 15' depth, including up to 10 LF of lateral)	\$650.00		\$97,500.00	\$2,640.00		\$396,000.00
1109	30	EA	Service Reconnection, (w/ open cut excavation, >15' depth, including up to 10 LF of lateral)	\$650.00		\$19,500.00	\$3,840.00		\$115,200.00
1109	5	EA	Service Reconnection, all depths (person entry)	\$1,000.00		\$5,000.00	\$2,160.00		\$10,800.00
4438	750	CY	Flowable Fill	\$150.00	-	\$112,500.00	\$144.00		\$108,000.00
	Total Bid Amount including Addendum #1, 2, 3 & 4					\$6,283,800.00			\$16,718,331.25
CALENDAR	CALENDAR DAYS TO COMPLETE					365			365

[1]